## Government of West Bengal

## Office of the Chief Medical Officer of Health Jalpaiguri

District Health Administrative Building, 1<sup>st</sup> Floor Hospital Road, Post & Dist-Jalpaiguri
Phone-03561-225380/225394, E mail: <a href="mailto:dpmujpg@gmail.com">dpmujpg@gmail.com</a>

Memo No: - Estt/ 55Q

Dated: - 12-02-2018

## NOTICE INVITING E-TENDER NO: - Estt/CW - 01 OF 2017-18

Chief Medical Officer of Health, Jalpaiguri invites bids through E-tenders in two bid systems (Technical and Financial Bid) for Construction of Repair and Renovation of Toilets of Office of the Chief Medical Officer of Health Jalpaiguri. For details and downloading of tender, interested parties may please visit website: <a href="https://www.wbtenders.gov.in">www.wbtenders.gov.in</a> (Organization-Health & Family Welfare Department).

SI no.	Name of the work	Type of Work	Estimated amount	Earnest money	Time of completion of work
1	Repair and Renovation of Toilets attached to Combined Establishment of CMOH Office, Jalpaiguri	Civil Work	482496/-	10000/-	30 days
2	Repair and Renovation of Electrical Work at Toilet Block Area of CMOH Office, Jalpaiguri	Electrical Work	98871/-	2000/-	30 days

The authority reserves the right to reject or cancel any tender at any time without assigning any reason thereof.

During the scrutiny, if it come to the notice to tender inviting authority that the credential or any other paper found incorrect/ manufactured/ fabricated, that bidder would not allowed to participate in the tender and that application will be out rightly rejected without any prejudice.

The Tender Selection Committee reserves the right to cancel the N.I.T. due to unavoidable circumstances and no claim in this respect will be entertained.

Chief Medical Officer of Health

Jalpaiguri

Dated: -

Memo No: - Estt./ 552/1(6)

Copy forwarded for information and wide circulation to: -

- 1. The Sabhadhipati, Jalpaiguri Zilla Parishad, Jalpaiguri
- 2. The District Magistrate, Jalpaiguri
- 3. The Superintendent of Police, Jalpaiguri
- 4. The Post Master, Jalpaiguri Head Post Office, Jalpaiguri
- 5. The Notice Board of CMOH Office, Jalpaiguri
- 6. The DSM, NHM, Jalpaiguri with the direction to publish to www.jalpaigurihealth.com

Chief Medical Officer of Health

Jalpaiguri

12/02/18

#### 1. General Instructions:

In the event of e-filing, intending bidder may download the tender documents free of cost from the
website: www.wbtenders.gov.in directly with the help of Digital Signature Certificate. Earnest money
should be deposited online in favour of Chief Medical Officer of Health, Jalpaiguri, payable at Jalpaiguri
and also to be documented through e-filling.

2.

#### 2. Submission of bids:

Both Technical bid and Financial Bid are to be submitted concurrently duly digitally signed in the <a href="https://www.wbtenders.gov.in">www.wbtenders.gov.in</a>. All papers must be submitted in English language.

Training: All the bidders are hereby requested to take training before submission of bids.

## 3. Time Schedules for the e-tender

THE TIME SCHEDULE FOR THE E-TENDER WILL BE AS PER THE LIST PROVIDED BELOW.

#### 4. ELIGIBILITY FOR QUOTING:

Any bonafide bidder having essential qualifications as mentioned in this tender document could bid for the tender. The price is to be quoted in Indian Rupees only including all charges. The work should be done as per specified item and drawing. The total liabilities of contractors from this end will be closed after receiving of final bill. The work area should be totally cleaned after completion of work and all contingencies should be removed before submission of final bill.

Any other law or act or rule as may be in force and made applicable to the workmen / supervisor / or other persons as may be deployed by the contractor for planning out the assign job involving use of skilled / semi-skilled / unskilled workers.

Payment for the work will be made on availability of fund.

### 5. SUBMISSION OF THE TENDERS :

The tender is to be submitted in a two Bid System.

- [A] Technical Bid:
- (a) . Statutory Cover Containing the following documents:

#### BID A:

The Bidder has to upload the duly signed NIT, Documentary Proof in support of Earnest Money Submission should be uploaded. Local SSI(s) should upload certificate of registration/EM II for claiming

SI No	Category	Sub Category	Sub Category Description
Α	Certificates	A1 Certificates	PAN card of the authorized signatory
			Professional Tax Registration Certificate
			GST Registration Certificate with Last Return
			Trade License
В	Company Details	B1 Company Details	Registration with Registrar of Companies
			Partnership Deed in case of Partnership Firm
С	Credential	C1: Credential 1 Details	Documents on credential having done at least
			of 40% of gross estimated amount of CIVIL &
			ELECTRICAL work for the last 5 (Five) years.
			For Electrical Work, the bidder have to submit
	22		Electrical Contractors' License.
D	FINANCIAL INFO	D1: Income Tax Return & Audited Balance sheet	Income tax Return to be submitted for the year 2017-2018 and Audited Balance Sheet of 2015-2016 ,2016-2017 & 2017-2018

D2: Bank Solvency Certificate	The participating bidders should have to submit a bank solvency certificate of Rs 14,50,000/- (fourteen lakhs Fifty Thousand)
	for the SI No.01 Job and Rs. 300000/-(Three Lakhs) Only for SL. No. 02 Job. A current bank solvency certificate issued by appropriate
	banking authority, must be submitted online along with other tender documents.

#### 2. COVER "B" :

[B] FINANCIAL BID "B":

(i) BOQ for INR (in excel sheet)

The folder as "Financial Bid" shall contain base price in Indian Rupee including all charges.

## 6. Evaluation of the tenders

During the tender evaluation process, the "Bid A" will be opened first. Those Tenderer who have qualified the essential & other requirements will be identified and only their "Bid B" i.e. Financial bid will be opened. The "Bid B" of those Tenderer failing to meet the technical & other requirements of participating in the tender will not be opened and be rejected. The Tenderer offering the item found suitable and as being as per the tender specifications will only be selected.

The Tenderer who have been so identified to have been technically suitable in the context of above will be deemed to have passed the test of essential and other requirement of the quoted item or items.

The "Bid B" (Financial Bids) of only these tenderers passing the essential and other requirement test will be opened.

If found suitable in the context of above prequalification etc., the Tenderer quoting the lowest rate will be considered as successful.

## Cost of Earnest Money :

Each tender has to be submit, unless exempted under the existing orders of the West Bengal Govt. must deposit Earnest Money in online mode by RTGS/NEFT through the ICICI Bank Payment Gateway as per

The earnest money is to be deposited in the prescribed time before opening of Bid A. The onus of proving that a Tenderer is exempted from Earnest Money will lie on the Tenderer and must be proved by submission of valid documents.

The earnest money of the Tenderer will liable to be forfeited if the Tenderer withdraws his tender as a whole or for any particular item or items at any stage after the opening of the tender, or fails / refuses to enter into written agreement for any of all of the items of his accepted tender within the time specified when requested to do so/fails to furnish Security Deposit within the stipulated time.

The Earnest Money will be refunded after finalization of the tender or within 3 (three) months from the date of opening of tender whichever is later against the specific prayer of Tenderer.

#### 8. RATE

The price is to be quoted in Indian Rupees only including all charges.

#### 9. ORDER:

Work Orders for the said works will be placed with the successful tenderers after the execution of the agreements. The successful tenderer will have to complete the work within the specified time schedule that had been assured at the time of selection as successful bidder

## 10. WITHDRAWAL /CANCELLATION & PURCHASE POLICY OF TENDERING AUTHORITY:

The tendering authority reserves the right to withdraw any item from the tender at any stage. The selection of such item, if already made in favour of any Tenderer, shall be treated as cancelled.

The tendering authority reserves the right to reject or accept any tender or part thereof at any stage or to split any tender without assigning any reason. Withdrawal of tender or any revision after submission of

The tendering authority reserves the right to accept or reject any tender, in part or in full, without assigning any reason.

#### 11. PENALTY CLAUSES-

**PENALTY FOR FORMATION OF CARTEL OR FURNISHING OF FRADULENT/ MISLEADING DOCUMENTS**: If during the tender process or at any state during the validity of the tender period, it is found that a Tenderer(s) has formed a cartel in what so ever form or name to fix up the rates or bidders to the detriment of the fairness of the tender process, penal measures

shall be initiated. Similar penal measures shall also be initiated against those tenderers who have submitted false/ misleading/ fraudulent documents or made incorrect declarations. The penal measure will be Forfeiture of Earnest Money, Forfeiture of Security Deposit if enlisted as a successful bidder.

## 12. APPEAL:

Appeal against the decision of the Chief Medical Officer of Health, Jalpaiguri and to impose such a penalty will lie with Tender Selection Committee. Review against the decision of the T.S.C. will lie with Health & F.W. Deptt of the Govt

## 13. AGREEMENT:

On a tender being accepted, intimation of acceptance will be forwarded to the Tenderer by Chief Medical Officer of Health, Jalpaiguri. After communication of the same, the Tenderer will have to execute agreement in the prescribed form with the Chief Medical Officer of Health, Jalpaiguri.

#### 14. SECURITY DEPOSIT

The Security Deposit will be mandatory for all bidders and will not be waived in any case.

The successful tenderers shall be required to furnish the 'Security Deposit' @ 10% of base rate per item for which the Tenderer has been selected as Bidder's Security 0020deposit.

#### 15. PAYMENT TERMS:

Payment will be made through e payment system through ECS/RECS/RTGS after execution of the work subject to :

On being selected, the successful vendors will have to submit one application to the Chief Medical Officer of Health, Jalpaiguri, stating name of the payee/ recipient, Bank account no with MICR code, IFSC of the payee/ recipient for making e payment. No manual payment is allowed to be made as far as practicable.

#### 16.Date & Time Information: -

SI. No.	Particulars	Date & Time
1	Date of publishing N.I.T. & other Documents online	14/02/2018, 10 am
2	Online documents download start date	14/02/2018, 11 am
3	Online documents download end date	20/02/2018, 5 pm
4	Online Bid submission start date	12/02/2018, 11 am
5	Dates for submission of Earnest Money online	14/02/2018 to 20/02/2018
6	Online Bid submission closing date	20/02/2018, 5 pm
7	Online Bid opening date for Technical Proposals	23/02/2018, 11 am
8	Date of online uploading list for Technically Qualified Bidders	To be notified later
9	Date of online opening of Financial Proposal	To be notified later
10	Date of uploading list of finally selected bidder/bidders	To be notified later

CHIEF MEDICAL OFFICER OF HEALTH, JALPAIGURI RESERVES THE RIGHT TO CHANGE THE ABOVE SCHEDULE IN CASE OF ANY EXIGENCIES AFTER PUTTING UP A NOTICE IN THE DEPARTMENTAL WEBSITE AND CMOH OFFICE, JALPAIGURI.

CMOH & Secretary H & FW Samiti, Jalpaiguri CHECK LIST FOR THE BIDDERS: -

SI No	Items	Please put Tick Mark			
1	Tender Application	Yes	No		
2	EMD	Yes	No		
3	Credential of last five years	Yes	No		
4	Trade License	Yes	No		
5	GST Registration Certificate with last return	Yes	No		
6	P. Tax Certificate	Yes	No		
7	Pan Card	Yes	No		
8	Bank Solvency Certificate	Yes	No		
9	I.T Clearance Certificate of 2017-2018	Yes	No		
10	Audited balance Sheet of 2015-2016, 2016-2017 & 2017-2018	Yes	No		
11	Electrical Contractor License (for Electrical Work)	Yes	No		

N.B. It is the responsibility of bidder to go through the e-tender document to ensure furnishing of all required documents in addition to above, if any.

## ANNEXURE I

APPLICATION FORMAT ( To be furnished in the Company's official letter pad with full address and contact no etc)

To The CMOH & Secretary DH & FW Samiti Jalpaiguri

# Sub: E-Tender for Construction of Roof Truss on RNTPC OPD/ADMISTRATIVE Building Under Jalpaiguri District

Sir,

We have thoroughly read all the terms and conditions of this tender guideline and is ready to execute the said work/works in accordance with that.

We further understand that you are not bound to accept the lowest or any bid you may receive against your above-referred tender enquiry.

We also understand that the tender selection committee reserves right to accept or reject any bid without assigning any reason thereof.

We confirm that we do not stand deregistered/banned/backlisted by any Government Authorities/Organization/Institution etc.

Brief of court/legal pending, if any, are following:

We would authorize and request any Bank, Person, Firm or Corporation to furnish pertinent information as deemed necessary and/ or as requested by you to verify this statement.

Signature of the bidder/authorized representative with Seal & Date

# TIMATE FOR REPAIR AND RENOVATION OF TOILET ATTACHED TO THE ESTRABLISHMENT SECTION, TACHED TO THE STAIR AT THE 1ST FLOOR, BESIDE THE CHEMBER OF THE CMOH AND ATTACHED TO THE OFFICE OF THE DY-CMOH-III UNDER C.M.O.H. OFFICE, JALPAIGURI

SI. No	ITEM OF WORK	QTY.	UNIT	RATE Rs/Unit	AMOUN'
1	Dismantling artificial stone flooring upto 50 mm. thick by carefully chiselling without damaging the base and removing rubbish as directed within a lead of 75 m. (1st floor.)	41.065	m2	56.00	2299.64
2	Dismantling all types of masonry excepting cement concrete plain or reinforced, stacking serviceable materials at site and removing rubbish as directed within a lead of 75 m.(1st floor.)	2.046	m3	501.00	1025.05
3	Stripping off worn out plaster and raking out joints of walls, celings etc. upto any height and in any floor including removing rubbish within a lead of 75m as directed.	168.623	m2	19.00	3203.83
4	(I) Cement concrete with graded stone ballast (40 mm size excluding shuttering) In ground floor (A) [Pakur Variety] (B) With N.B. Variety stone metal. (a) 1:3:6 proportion	2.500	m <sup>3</sup>	3620.00	9050.00
5	125 mm thick Brick Work with 1st class brick in cement mortar (1:4) in ground floor.	12.960	m <sup>2</sup>	668.00	8657.28
6	Hire and labour charges for shuttering with centering and necessary staging upto 4 m using approved stout props and thick hard wood planks of approved thickness with required bracing for concrete slabs, beams and columns, lintels curved or straight including fitting, fixing and striking out after completion of works (upto roof of ground floor)  (a) 25 mm to 30 mm thick wooden shuttering as per decision & direction of Engineer-In- Charge.	3.600	m²	328.00	1180.80
7	Reinforcement for reinforced concrete work in all sorts of structures including distribution bars, stirrups, binders etc initial straightening and removal of loose rust (if necessary), cutting to requisite length, hooking and bending to correct shape, placing in proper position and binding to correct shape, placing in proper position and binding with 16 gauge black annealed wire at every intersection, complete as per drawing and direction.  (a) For works in foundation, basement and upto roof of ground floor / upto 4 m.  (i) Tor steel / Mild Steel	0.100	mt	60205.00	6020.50
9	Supplying, Fitting & Fixing 30 mm thick both side prelaminated Factory made solid Panel PVC Door Shutter consisting of outer frame made out of M.S. tubes of 19 gauge thickness and size 19 mmx19 mm for styles, top and bottom rails, M.S. frame shall have cost of steel primers of approved make and manufacture, M.S. frame covered with 5 mm th. heat moulded PVC "C" channel of size 30 mm th, 70 mm width out of which 50 mm shall be flat and 20 mm shall be tapered in 45 degree angle on either sides forming styles; and 5 mm th. 95 mm wide PVC sheet out of which 75 mm shall be flat and 20 mm tapered in 45 degree on the inner side to form top & bottom rail and 115 mm wide PVC sheet out of which 75mm shall be flat and 20 mm shall be tapered on both sides to form lock rail. Top, bottom and lock rails shall be provided either side of the panel with 10 mm (5 mmx2) th.,20 mm wide cross PVC sheet as gap insert for top rail and bottom rail sheet to be fitted in the M.S. frame welded/sealed to the styles &rails with 7 mm (5 mm+2 mm) th.x15 mm wide PVC sheet beading on inner side and joined together with solvent cement adhesive. An additional 5 mm th. PVC strip of 20 mm which is to be stuck on the interior side of the "C" channel using PVC solvent adhesive etc. complete excluding all necessary hardwares as per direction of Engineer-in-Charge.	16.170	m2	2438.00	39422.4
	rounding off or chamfering corners as directed and raking out joints including throating, nosing and drip course, scaffolding/staging where necessary(Ground Floor).[Excluding cost of chipping over concrete surface].  (ii) With1:4 cement mortar  (b) 15 mm thick plaster.	168.623	m²	154.00	25967.8
10	Supplying, fitting and fixing 1st quality ceramic tiles in walls and floors to match with the existing work, & 4 nos. of key stones (10mm) fixed with araldite at the back of each tile & finishing the joints with white cement mixed with colouring oxide if required to match the, colour of tile including roughening of concrete surface, if necessary or by synthetic adhesive & grout materials etc.				

F-/					
	(A) Floor With sand cement mortar (1:4) 20 mm thick & 2 mm thick cement slurry at back side of tiles using cement @ 2.91 kg / Sq.m & joint filling using white cement slurry @ 0.20kg/Sq.m.  (b) Area of each tile above 0.09 Sq.m  (ii) Other than Coloured decorative including white	41.065	m2	847.00	34782.06
	(B) Wall With sand cement mortar (1:3)15 mm thick & 2 mm thick cement slurry at back side of tiles using cement @ 2.91 kg / Sqm & joint filling using white cement slurry @ 0.20 kg /Sqm. (b) Area of each tile above 0.09 Sq.m (ii) Other than Coloured decorative including white	110.488	m2	1033.00	114133.59
11	Iron butt hinges of approved quality fitted and fixed with steel screws, with ISI mark.  vi) 100mm. X 50mm. X 1.25mm	33.000	Each	43.00	1419.00
12	Anodised aluminium barrel / tower / socket bolt (full covered) of approved manufactured from extruded section conforming to I.S.204/74 fitted and fixed with cadmium plated screws:  iv)150 mm long X 10 mm dia.  Bolt	22.000	Each	63.00	1386.00
13	Anodised aluminium D-type handle of approved quality manufactured from extruded section conforming to I.S.specification (I.S. 230/72) fitted and fixed complete:  (a) With continuous plate base.  v) 125 mm grip x 12 mm dia rod.	22.000	Each	103.00	2266.00
14	Applying Exterior grade Acrylic primer of approved quality and brand on plastered or cencrete surface old or new surface to receive decorative textured (matt finish) or smooth finish acrylic exterior emulsion paint including scraping and preparing the surface throughly, complete as per manufacturer's specification and as per direction of the EIC. (B) Two coats	178.143	m²	45.10	8034.23
15	Applying Acrylic Emulsion Paint of approved make and brand on walls and ceiling including sand papering in intermediate coats including putty (to be done under specific instruction of Superintending Engineer): (Two coats)	178.143	m <sup>2</sup>	62.00	11044.84
16	Supplying, fitting and fixing PVC pipes of approved make of Schedule 80 (medium duty) conforming to ASTMD - 1785 and threaded to match with GI Pipes as per IS: 1239 (Part - I). with all necessary accessories, specials viz. socket, bend, tee, union, cross, elbo, nipple, longscrew, reducing socket, reducing tee, short piece etc. fitted with holder bats clamps, including cutting pipes, making threads, fitting, fixing etc. complete in all respect including cost of all necessary fittings as required, jointing materials and two coats of painting with approved paint in any position above ground.				
	15 mm	45.000	r.m	137.00	6165.00
	25 mm	55.000	r.m	205.00	11275.00
	40 mm	25.000	r.m	292.00	7300.00
17	Supplying, fitting & fixing Cast iron soil pipe only conforming to I.S. 3989/1970 and I.S. 1729/1964 with bobbins, nails etc. including making holes in the wall, floor etc. and cutting trenches etc in any floor through masonry concrete, if necessary, and mending good damages with necessary jointing materials and painting two coats to the exposed surface with approved paint complete.  (a) With valamoid joints including sealing with sand cement mortar(4:1) upto quarter depth.  (i) 100 mm dia. (internal)	14.000	mt	688.00	9632.00
18	Constructing Inspection pit of inside measurement 600mm X 600mm X upto 600mm (depth) with 250 mm thick 1st. class brick work in cement mortar (1:4) on all sides, bottom of the pit consisting of 100 mm thick cement concrete (1:3:6) with stone chips over a layer of jhama brick flat soling, 15 mm thick (1:4) cement plaster to inside walls and out-side walls upto G.L. and 20 mm.thick (1:4) plaster to bottom of the pit, providing necessary invert with cement concrete (1:3:6) with stone chips as per direction, neat cement finishing to entire internal surfaces, top of the pit covered with 100 mm thick R.C.C. slab (1:1.5:3) with stone chips and necessary reinforcements upto 1% and shuttering including 6 mm thick cement plaster (1:4) in all external surfaces of the slab and one 560 mm dia. R.C.C. manhole cover of approved make supplied, fitted and fixed in the slab with necessary fittings, necessary earthwork in excavation in all sorts of soil, filling sides of the pit with earth and removing spoils after work complete in all respect with all costs of labour and materials.ii) With Bazree (N.B Variety) (SAIL/TATA/RINL)	1.000	Each	6476.00	6476.00

	Say			4,824	,497.00
	TOTAL				482496.53
	Labour Welfare Cess 01%				4777.19
	TOTAL			10/	477719.34
	GST 12 %				51184.21
	TOTAL =				426535.12
31	Supplying, fitting and fixing liquid soap container.  (c) Fibre glass	5.000	each	188.00	940.00
30	Supplying, fitting and fixing bevelled edged mirror 5.5 mm thick silver red as per I.S. 3438 / 1965 together with brass C.P. hinges. (ii) 600 mm X 450 mm	5.000	each	484.00	2420.00
29	Supplying, fitting and fixing towel rail with two brackets. (a) C.P. over brass (ii) 25 mm dia. and 600 mm long	5.000	each	430.00	2150.00
28	Supplying, fitting and fixing Flat back urinal (half stall urinal) in white vitreous chinaware of approved make in position with brass screws on 75 mm X 75 mm X 75 mm wooden blocks complete.  (i) 635 mm X 395 mm X 420 mm	10.000	each	2869.00	28690.00
27	Supplying, fitting and fixing 10 litre P.V.C. low-down cistern conforming to I.S. specification with P.V.C. fittings complete, C.I. brackets including two coats of painting to bracket etc.	8.000	each	1015.00	8120.00
26	Supplying, fitting and fixing Squating plate with integral flushing in white vitreous chinaware of approved make in cement concrete (6:3:1) with jhama chips complete.  (i) 450 mm X 350 mm	2.000	each	881.00	1762.00
25	Supplying, fitting and fixing E.W.C. in white glazed vitreous chinaware of approved make complete in position with necessary bolts, nuts etc.	5.000	each	1512.00	7560.00
24	Supplying, fitting and fixing Shallow water closet Indian pattern (I.P.W.C.) of approved make in white vitreous chinaware in position (excluding cost of concrete for fixing).  (i) 580 mm long	3.000	each	973.00	2919.00
23	Supplying, fitting and fixing 18 mm thick marble partition slab with chawk doongri marbel square cut, both sides polished with two front corners rounded and edges polished.	3.000	m²	1426.00	4278.00
22	Supplying, fitting and fixing white vitreous china based quality approved make wash basin with C.I. brackets on 75 mm x 75 mm wooden blocks, C.P. waste fittings of 32 mm dia., one approved quality brass C.P. pillar cock of 15 mm dia., C.P. chain with rubber plug of 30 mm dia., approved quality P.V.C. waste pipe with C.P. nut 32 mm dia., 900 mm long approved quality P.V.C. connection pipe with heavy brass C.P. nut including mending good all damages and painting the brackets with two coats of approved paints. (ii) 630 mm X 450 mm size	7.000	each	3260.00	22820.00
21	Supplying, fitting and fixing pillar cock of approved make.  (g) CP Sink Cock with Regular Swinging Spout (Table Mounted Model)  (Equivalent to Code No. 5357 of JAQUAR or similar brand).	9.000	each	1022.00	9198.00
20	Supplying, fitting and fixing bib cock or stop cock.  (c) (i) Chromium plated Bib Cock (angular shape with wall flange) (Equivalent to Code No. 5037 & Model - Florentine of Jaquar or similar brand).	11.000	each	861.00	9471.00
	Construction of circular soak well 2.5 metre deep in all types of sandy soils with dry brick work upto 1.6 metre from the bottom having 150 mm intermediate cement brick work (1:4) band all round and cement brick work (1:4) upto 0.90 metre from top with 20mm thick cement plastering (1:4) to inside face upto the depth of cement brick work, 15mm thick cement plaster (1:4) on outer face from top of the well upto G.L. and 6 mm thick cement plaster (1:4) on top of the R.C.C. cover slab including filling bottom 1.00 metre of inside of the well with brick metal (50 mm to 63 mm size) including R.C.C. cover slab of 100 mm thick with cement conc (1:1.5:3) with stone chips with necessary reinforcement and shuttering including one 560 mm dia. R.C.C. manhole cover (heavy type)of approved make supplied, fitted and fixed in the cover slab with necessary fittings, making nacessary arrangements for pipe connections, excavation of well including shoring, dewatering and removing the exess earth from the premises as per direction complete in all respect with all costs of labour and materials.  With 250 mm thick dry brick work and 250 mm thick cement brick work (1:6) and 1.00m inside dia.	1.000	Each	15466.00	15466.00
7/	Construction of circular soak well 2.5 metre deep in all types of sandy soils with				

Chilef Medical Officer of Health Jalpalguri

SI	Description of Items	Unit	Qt	Rate	Amount
no 1	Supplying and Drawing 1.1 KV single core stranded 'FR' PVC insulated & unsheathed single core stranded copper wire (Make-Havells/Finolex/KEI) of the following sizes in the 19 mm polythene pipe concealed in wall and making necy. Connetion as required.		У	(INR)	(INR)
	a ) 2x56/0.3 (4 sqmm) + 1x36/0.3 (2.5 sqmm) as Ecc	RM	90	220.00	19800.0
2	Distribution wiring in 1.1kV grade 2X22/0.3(1.5sqmm) single core stranded "FR" PVC insulated and unsheathed copper wire with 1X22/0.3(1.5sqmm)single core stranded 'FR' PVC insulated & unsheathed copper wire (Make- Havells/Finolex/KEI) for ECC in 19 mm bore ,3 mm thick polythene pipe complete with all accessories embeded in wall for horizontal & vertical runs and in suitable size PVC casing- capping (precision make) for celing portion only,incl. necy. PVC clips,fittings etc. to light/fan/call Bell point with Piyano Key type switch (Anchor make) fixed onSheet Metal fabricated switch board with Perspex/bakelite top cover on wall incl. necy. connections & making earththing attachment and mending good damages to building works.Avg. Run: 6 M (only pvc casing- capping on celing and remaining portion concealed).	Pt	23	1020.0	23460.0
3	Supply and fixing of 240 V, 32 A DP Main Switch on flat iron frame on wall with nuts ,bolts etc.Make- Havells	Eac h	3	1546.0	4638.00
4	Supply & fixing (2+ 4) way SPN Distribution board double door with IP-42/43 protection, having 1 no. 40 A DP Isolator as incommer and 04 nos. 6-10 A 240 V SP MCBs of breaking capacity 10 kA & C characteristics as outgoing concealed in wall after cutting the & mending good the damages to original finish incl. inter connetion with suitable size of copper wire and neutral link & provision for earthing. (enclosure- 607710) Make-Legrand	Set	1	2778.0 0	2778.00
5	Supply & Fixing of 20 W ,240 V 4 ft single LED with box type fittings(CRCA body) incl. all accressroies directly on wall with suitable size MS fastener .Make- crompton .fiitings cat. Ref IGP131LT8-16 , LED cat ref. LTT8-20	Set	2	1571.0 0	3142.00
6	Supply of box type 20 W ,240 V 4 ft Single LED tube with fittings (CRCA body)suitable for suspension the fittings from the celing.Make- crompton. LED cat ref. LTT8-20, fiitings cat. Ref IGP132LT8-16	Set	3	1450.0 0	4350.00
7	Fixing only Single flurocent light fittings suspended 25 cm bellow the celing with 2 no. 20mm dia El conduit (14 SWG) supports incl. s& F El Conduit ball socket/socket type celing plate and conneting the length of pvc insulated wire and painting etc as required by 2x24/0.20 mm(1.5sq.mm)flexible copper wire of 1.10mtr.	Eac h	3	259.00	777.00
8	Extra for suspension exceeding 25 cm with S&F additional 2 no. 20 mm dia El conduit (14 SWG) supports & necy. PVC insulated wire and painting etc. as required by 2x24/0.20 mm (1.5 sqmm) flexible copper wire of 1.10 mt. Length.	RM	3	188.00	564.00
9	Supply and fixing of Single Phase, 50 Hz, 1400 rpm exhaust fan after making hole in wall and making good damages and smooth cement finish etc. as practicable as possible and proiding necy. Length of PVC insulated wire and making connection for exhaust.Make USHA, Model- Metal HD Turbo HDEF				
	a)18"	Set	3	5592.0	16776.0

	Total amount in Rs.  Rupees Ninety Eight Thousand Eight Hundred Seventy One only					
		Total	amou	nt in De	98871.0	
12	Dismantiling of existing wirings, damage main switchs, DBs etc of the toilet block area of the CMOH office as per direction of the E.I.C.	Item	1	2000.0	2000.00	
11	Supply & Fixing of 10 W, 240 V, 50 Hz LED bulb to the existing bracket point. Make- Philips/Havells	Eac h	11	180.00	1980.00	
	b) 12 "	Eac h	4	234.00	936.00	
10	a) 18 "	Eac h	3	566.00	1698.00	
	Supply and fixing Al louver shutter on wall with necy . Bolts & nuts (6mm dia x 62 mm long).					
	b) 12 "	Set	4	3993.0	15972.0	

Chilef Medical Officer of Health Jalpalguri